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(MPa) 4 (MPa) (C)
1 Bk — — — — SA-2 — — — 0. 60 40 — — AL RS | — SA-2
2 Bk — — — — SA-2 — — — 0. 60 40 — — AL ERHE | — SA-2
3 Bk — — — — SA-2 — — — 0. 60 40 — — AL RS | — SA-2
4 Bk — — — — SA-2 — — — 0. 60 40 — — AL EEHE | — SA-2
5 Bk — — — — SA-2 — — — | o0.0063 | 50 — — AL RS | — SA-2
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NO. P b iy Do 7 S 7 Q ts t tr
(MPa) (°C) (mm) (mm) T S (MPa) (mm) (mm) = (mm)
1 0. 60 40 60. 50 3.90 SUS304TP S 2 129 1. 00 0. 50mm 3.40 0.14 A 0.14
2 0. 60 40 SUS304 S 2 129 1. 00 0.18 A 0.18
3 0. 60 40 76. 30 5.20 SUS304TP S 2 129 1. 00 12.5 % 4.55 0.18 A 0.18
4 0. 60 40 114. 30 6. 00 SUS304TP S 2 129 1. 00 12.5 % 5.25 0.27 A 0.27
5 0.0063 50 318. 50 10. 30 SUS304TP S 2 128 1. 00 12.5 % 9.01 0.01 A 0.01
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